Trigonometry 2 KEY
Geometry
Givethe six trigonometric ratios for the followings triangles.
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Use AMNP to name the hypotenuse, opposite side, and
adjacent side for each reference angle.
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Use AJKH to name the hypotenuse, opposite side, and
adjacent side for each reference angle.
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Use AQRS to find each trigonometric ratio. Then use a S
calculator to approximate each ratio to four decimal places.
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In the figure at the right the ratio Z#Pof=rse =

AdiacentLA

13) If AC =75, find lengths AB and BC.
&+ 722 =75

E = E , 75/25 = 3. Thisis a 3 sets problem.
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Sox=3(24)=72=AB
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In the figure at the right the ratio Z2#poferse _ 25

Adigcent-A 24
14 If AB =48, find lengths BC and AC.

E s , 48/24 = 2. Thisis a2 sets problem.
24 48

Sox =2(25)=50=AB

Inthe figure a the right the ratio ZPPosiE<F _ 3

Hypofermse 13
15) If PQ =65, find lengths PR and QR.

5
= , 65/13 = 5. Thisisab sets problem.
13 65

Sox =5(5) = 25=QR.

Inthe figure a the right the ratio ZPPosiE<F _ 3

Hypofermse 13
16) If PR =72, find lengths PQ and QR.

&+52=13
a=12 =ratiovauefor PR

i = £ , 72/12 = 6. Thisis a6 sets problem.
12 72
So x = 6(5) =/30 = QR.
% = E , 712/12 = 6. Thisis a6 sets problem.
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Sox = 6(13) =78 = PQ.
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